oS a4 /BAC = £ADC = 90°, AC = 12cm, CD = 8cm €
o, BD 9] Zo]&=?

@ 1l4cm @ 13cm ® 12cm @ 12cm ©10cm

AC’=BC-CD
144 = (x +8) x 8
8x = 80, x = 10(cm)




2. o J”A AC 9 AolE FotH? (T, CD = 6em )

@ 4cm @ 6cm ® 8cm @ 10cm @120m

~&B

BC:BD=8:4=2:1,BA:BC=16:8=2:1, /BE
o b

AABC @ ACBD (SAS &)

AB:CB=AC:CD

16:8=x:6

SLox=12




o2 1T} 22 JPAAY ABCD A
BC = FC, EC = DC °]t}. AABO ¢] Ho]
7F 19cm? & w, ACEF 9] Y o]&?

@® 19cm? @380m2 ® 47cm?

@ 50cm? ® 57cm?

~&B

OABCD = HJAE ol Bz
AABO = ;LDABCD o|ct.

ACEF = ACDB(SAS &%)

ACEF = ACDB = 2AABO
=2x19 =38 (cm?)




